SLA4031
With built-in flywheel diode External dimensions (&)--SLA

Absolute maximum ratings (ra=25°c) Electrical characteristics (Ta=25°C)
Symbol Specification Unit Symbol min S ectl)f/lgatlon max Unit Conditions
VcBo 120 V Iceo 10 LA Vce=120V
Vceo 120 V lEBO 10 mA VEB=6V
VEBO 6 V Vceo 120 V lc=25mA
Ic 4 A hre 2000 5000 15000 Vce=2V, Ic=2A
Icp 6 (PW<1ms, Du<50%) A VcE (sat) 1.0 1.5 \%
Ic=2A, IB=2mA
I 0.5 A VBE (sat) 1.6 2.0 Y
IF 4 (PW<0.5ms, Du<25%) A ton 0.6 us Vee=40V,
IFsm 6 (PW<10ms, Single) A tstg 5.0 us Ic=2A,
VR 120 V tf 2.0 us IB1=—IB2=10mA
= 5 (Ta=25°C) W m Diode for flyback voltage absorption (Ta=25°C)
25 (Te=25°C) Specification _ N
Viso 1000 (Between fin and lead pin, AC)|  Vrms Symbol min typ max Unit Conditions
Tj 150 °C VR 120 \% IR=10LA
Tstg —40 to +150 °C VF 1.2 \% IF=1A
Bj-c 5 °CIW IR 10 UA VR=120V
. . L trr 100 ns IF=£100mA
m Equivalent circuit diagram
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Ic-Vce Characteristics (Typical) h re-Ic Characteristics (Typical) h re-lc Temperature Characteristics (Typical)
4 20000 (VCEZZV) 20000 (VCE:ZV)
[T Tt i
[ o ] 10000 10000
o oo PR =
5 QomA_| 5000 \ 5000 i
1} \
1 | i ! A T\
1 0.4mA I 1 2 » \
= ] S\ s 77 \
< // 1000 ) ., 1000 2, H
2 £ | £ it
© /. oamA 500 1 500 1t
| — |
A \
A P4
! 100 A A 100 V1
50 50
/
0 / 20 20
0 1 2 3 4 5 0.02 0.05 0.1 0.5 1 4 0.02 0.05 1 0.5 1 4
Vee (V) lc (A) Ic (A)
Vce(sat)-Ic Temperature Characteristics (Typical) V  ce(sat)-Is Characteristics (Typical) I c-Vee Temperature Characteristics (Typical)
Ic / 18=500 Vce=2V,
( ) 3 B (Vee=2v)
1]
‘ i
ol /il
s iy s? I
2 Z ) 2 /1]
g / / =z Ic=4A < [Tl
U 4 2
& 777 e N o /1]
8 T 8 e /1]
= P Z- S, a1 11
= f 5?/ / II
W9l
~pNf o) g/
7
ol 0 of vy
03 0.5 0.1 05 1 5 10 50 0 1
Ic (A) I (MA) VeE (V)
Bj-a-PW Characteristics P 1-Ta Characteristics Safe Operating Area (SOA)
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